
                                                                           8. razred                                             29.5.2020 

PITAGOROV IZREK – vaje 

                                          
hipotenuza 2  = 1. kateta2 + 2. kateta2 

                                                                                     
                                                          h2 = k1

2 +k2
2 

  
c2=a2+b2 

 

Izračunaj   dolžino neznane  stranice ! 

 

 

 

 

 

 

x2 = 152 + 82  

x2 = 225 + 64 

x2 = 289 

x = √289 = 17 cm 

 

https://eucbeniki.sio.si/mat8/842/842-3b2.png
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